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B.A. (Part - I) (Semester - II) Examination, November - 2015
ECONOMICS (Optional) (Paper - II) (New)
Indian Economy
Sub. Code : 61245

Day and Date: Tuesday, 03 - 11 - 2015
Time : 12.00 noon to 02.00 p.m.

Total Marks ; 50

Instructions: 1)  All questionsare compulsory.
2)  Figures to the right indicate full marks.

QI) Complete the following sentences by choosing correct alternative. [10]
a) Indian agriculture is the biggest business owned by
)  Government ) Private sector
i) Co-operative sector iv) None of these
b) In agricultural sector ._uncmployment exists.
i)  Disguised i) Open \(
i) Frictional iv) None of these
. ¢) The exploitation of was done under the Zamindari system.
1)  money lenders i) tenants (
i) agricultural labourers iv) none of these L
3 d) Useofnew technology to increase agricultural productivity is called as
revolution.
1) green i)  white
i) red iv) none of these
€) InIndia due to , size of land holding is decreasing.
1)  population decrease ' i) population growth \ 7
i) road construction iv) none of these
f) industry is fully or partially run with the help of family
members.
1) Cottage i)  Small-scale . %
i) Medium iv) None of these \,
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g) is the main cause of industrial sickness.
) Excess demand " ii) More capital \A
ii) Load shading iv) None of these
h) is a very good tool of communication.
i)  News paper ii)y Mobile phone
ii) Book | iv) None of these
i) Indian Railway is the bigéest business owned by __
i) government “ i) private sector
i) co-operative sector l, . iv) none of these ?

j)  Tourism industry earns

i) clothes iy foodgrain 2
iii) foreign currency ‘1 iv) none'of thcse W
02) Answerthe following questionsindetail. -~ & - . [20]
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a) Explain the causes of low a\lgriéultliral product1v1ty 1nInd1a A '
| % e
State the importance of service sector in Indiétn-,ec(“);.nqmy. f- ¢
b) Explain the problems of small-scale industrie's- in Iﬁdia. :
b OR i
~ Explain the composition and direction of 'Invdiél':é\': f&fei'gn trade after 1991.
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03) Write a short notes (any four) :

- [20]
a)  Merits of Green Revolution. by Tt
-l')) / Causes of agricultural distress. A |
c) Causes of industrial sickné[:ss. , b G = v

d) Advantages of Railway Tr:ansport.
e) Importance of Tourism industry.

f) Iiﬁportance of foreign sector.
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